Y2 — Autumn — Block 1 — Step 16 — Count in 3s Answers

Question Answer

3,6,9,12

The circled numbers count up in jumps of 3

30|27(24(21({18(15|12|9 |6 |3

316|9(12|15|18|21|24(27|30

12, 15, 18, 21, 24, 27, 30, 33, 36
Jo will have 36 stickers in 8 days.

a) True
Counting in 3s from zero, the numbers are 0, 3, 6, 9

b) False
Counting in 3s from zero, the numbers are 0, 3, 6, 9, 12, so we do not say the number
11
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a) 0,2,4,6,8,10

b) 0,3,6,9,12,15

c) 0,5,10, 15,20, 25
Sam is counting in 5s.
When she adds the numbers together from counting in 2s and 3s, she will be
counting in 5s, because 2 add 3 is equal to 5




